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Item Statistics Summary

Summary

Summary statements Applicable items

• This item may be too difficult. Item difficulty affects item
discrimination in that items of high and low difficulty may
have lower discrimination statistics. Consider reviewing the
content of the item to determine if it should be made less
difficult.

2

• This item has a negative CPBR, which is statistically very
problematic. Examinees of low ability may have a greater
probability of answering the item correctly, than do
examinees of high ability. This item may be keyed
incorrectly. If the item key is correct, review the content of
the item carefully and consider deleting this item from the
test.

2

• This item has low discrimination. Examinees of low ability
should have a much lower probability of answering an item
correctly than do examinees of high ability. Low
discrimination statistics suggest that this may not be what is
occurring. Consider reviewing and revising the content of
this item to see if ambiguity in the item content can be
limited. Also, consider that item difficulty affects item
discrimination in that items of high and low difficulty may
have lower discrimination statistics.

4 8 10 19 20 31 33 35 38 43 64

• This item may be too easy. Item difficulty affects item
discrimination in that items of high and low difficulty may
have lower discrimination statistics. Consider reviewing the
content of the item to determine if it should be made more
difficult.

39

• The five most difficult items on this test are: 2 38 31 34 20

• The five least difficult items on this test are: 39 54 1 29 25

• The KR-20 for this test indicates moderate to high test
reliability.

Item statistics summary

Difficulty mean = 0.632 CPBR mean = 0.311 KR-20 = 0.890

Item number Difficulty Discrimination (CPBR) KR-20 if item deleted

1 0.836 0.285 0.889
2 0.089 -0.114 0.892
3 0.689 0.298 0.889
4 0.573 0.182 0.890
5 0.680 0.270 0.889
6 0.613 0.291 0.889
7 0.578 0.303 0.889
8 0.716 0.115 0.891
9 0.773 0.389 0.888
10 0.756 0.036 0.891
11 0.618 0.419 0.887
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12 0.760 0.350 0.888
13 0.542 0.356 0.888
14 0.587 0.239 0.889
15 0.489 0.384 0.888
16 0.578 0.376 0.888
17 0.644 0.436 0.887
18 0.573 0.489 0.886
19 0.804 0.195 0.890
20 0.422 0.178 0.890
21 0.542 0.335 0.888
22 0.627 0.289 0.889
23 0.676 0.372 0.888
24 0.560 0.385 0.888
25 0.809 0.443 0.887
26 0.596 0.379 0.888
27 0.618 0.354 0.888
28 0.671 0.349 0.888
29 0.831 0.313 0.888
30 0.640 0.301 0.889
31 0.364 0.104 0.891
32 0.698 0.433 0.887
33 0.542 0.187 0.890
34 0.369 0.280 0.889
35 0.471 0.162 0.890
36 0.458 0.348 0.888
37 0.742 0.380 0.888
38 0.338 0.223 0.889
39 0.924 0.251 0.889
40 0.604 0.330 0.888
41 0.662 0.430 0.887
42 0.582 0.255 0.889
43 0.720 0.139 0.890
44 0.689 0.341 0.888
45 0.631 0.322 0.888
46 0.747 0.387 0.888
47 0.622 0.288 0.889
48 0.671 0.281 0.889
49 0.693 0.444 0.887
50 0.498 0.262 0.889
51 0.698 0.252 0.889
52 0.800 0.263 0.889
53 0.529 0.464 0.887
54 0.871 0.310 0.889
55 0.631 0.398 0.887
56 0.773 0.375 0.888
57 0.604 0.560 0.885
58 0.538 0.384 0.888
59 0.738 0.501 0.886
60 0.662 0.414 0.887
61 0.773 0.256 0.889
62 0.804 0.268 0.889
63 0.622 0.374 0.888
64 0.493 0.163 0.890
65 0.596 0.382 0.888
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Item discrimination by item difficulty
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Item 1

Item 1 - Key = C, Difficulty = 0.836, Discrimination (CPBR) = 0.285

Correlation coefficients

Biserial correlation = 0.297
Point-biserial correlation = 0.317
Corrected biserial correlation = 0.285
Corrected point-biserial correlation = 0.285

Group breakdowns

Total Top Mid Low TTS

No Answer 0.000 0.000 0.000 0.000 N/A
A 0.084 0.037 0.092 0.115 35.947
B 0.031 0.000 0.017 0.096 28.143
C 0.836 0.944 0.866 0.654 42.537
D 0.049 0.019 0.025 0.135 32.636

Summary

• This item is of lesser difficulty.

• This item has moderate discrimination.

http://integrity.castlerockresearch.com Tuesday, March 29, 2005 Page 4



Item 2

Item 2 - Key = B, Difficulty = 0.089, Discrimination (CPBR) = -0.114

Correlation coefficients

Biserial correlation = -0.065
Point-biserial correlation = -0.087
Corrected biserial correlation = -0.114
Corrected point-biserial correlation = -0.114

Group breakdowns

Total Top Mid Low TTS

No Answer 0.004 0.019 0.000 0.000 52.000
A 0.676 0.852 0.672 0.500 43.441
B 0.089 0.056 0.109 0.077 38.100
C 0.138 0.037 0.143 0.231 35.355
D 0.093 0.037 0.076 0.192 34.429

Summary

• This item may be too difficult. Item difficulty affects item discrimination in that items of high and low difficulty may
have lower discrimination statistics. Consider reviewing the content of the item to determine if it should be made less
difficult.

• The total test score (TTS) for the correct response is not greater than for one or more of the incorrect responses. It is
expected that the TTS for examinees who select the correct response will be higher than for examinees who select an
incorrect response. Consider reviewing the content of the item to determine why this is the case.

• There are a greater proportion of examinees of low ability selecting the correct alternative to this item than there are
examinees of high ability. This is unexpected because examinees of high ability should select the correct alternative
more often than do examinees of low ability. Consider reviewing the content of the correct alternative for this item to
determine why the examinees of low ability are selecting it more often than are the examinees of high ability.

• There is a greater proportion of examinees of middle (average) ability selecting the correct alternative to this item
than there are of examinees of high ability. This is unexpected because examinees of high ability should select the
correct alternative more often than do examinees of average ability. Consider reviewing the content of the correct
alternative for this item to determine why the examinees of average ability are selecting it more often than are the
examinees of high ability.

• This item has a negative CPBR, which is statistically very problematic. Examinees of low ability may have a greater
probability of answering the item correctly, than do examinees of high ability. This item may be keyed incorrectly. If the
item key is correct, review the content of the item carefully and consider deleting this item from the test.

• There are a greater proportion of examinees of high ability selecting incorrect alternative A than there are of
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examinees of low ability. This is unexpected because examinees of low ability should select incorrect alternatives more
than do examinees of high ability. Consider reviewing the content of the incorrect alternative to determine why the
examinees of high ability are selecting it more often than are examinees of low ability.
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Item 3

Item 3 - Key = D, Difficulty = 0.689, Discrimination (CPBR) = 0.298

Correlation coefficients

Biserial correlation = 0.402
Point-biserial correlation = 0.338
Corrected biserial correlation = 0.298
Corrected point-biserial correlation = 0.298

Group breakdowns

Total Top Mid Low TTS

No Answer 0.000 0.000 0.000 0.000 N/A
A 0.102 0.037 0.084 0.212 34.087
B 0.111 0.037 0.101 0.212 34.360
C 0.098 0.074 0.101 0.115 39.000
D 0.689 0.852 0.714 0.462 43.452

Summary

• This item is of moderate difficulty.

• This item has moderate discrimination.
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Item 4

Item 4 - Key = C, Difficulty = 0.573, Discrimination (CPBR) = 0.182

Correlation coefficients

Biserial correlation = 0.287
Point-biserial correlation = 0.227
Corrected biserial correlation = 0.182
Corrected point-biserial correlation = 0.182

Group breakdowns

Total Top Mid Low TTS

No Answer 0.000 0.000 0.000 0.000 N/A
A 0.084 0.019 0.059 0.212 30.684
B 0.169 0.056 0.227 0.154 39.395
C 0.573 0.704 0.563 0.462 43.124
D 0.173 0.222 0.151 0.173 40.846

Summary

• This item is of moderate difficulty.

• This item has low discrimination. Examinees of low ability should have a much lower probability of answering an item
correctly than do examinees of high ability. Low discrimination statistics suggest that this may not be what is occurring.
Consider reviewing and revising the content of this item to see if ambiguity in the item content can be limited. Also,
consider that item difficulty affects item discrimination in that items of high and low difficulty may have lower
discrimination statistics.

• There are a greater proportion of examinees of high ability selecting incorrect alternative D than there are of
examinees of low ability. This is unexpected because examinees of low ability should select incorrect alternatives more
than do examinees of high ability. Consider reviewing the content of the incorrect alternative to determine why the
examinees of high ability are selecting it more often than are examinees of low ability.
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Item 5

Item 5 - Key = C, Difficulty = 0.680, Discrimination (CPBR) = 0.270

Correlation coefficients

Biserial correlation = 0.371
Point-biserial correlation = 0.310
Corrected biserial correlation = 0.270
Corrected point-biserial correlation = 0.270

Group breakdowns

Total Top Mid Low TTS

No Answer 0.004 0.019 0.000 0.000 52.000
A 0.138 0.056 0.160 0.173 37.387
B 0.031 0.000 0.042 0.038 39.286
C 0.680 0.870 0.672 0.500 43.301
D 0.147 0.056 0.126 0.288 34.091

Summary

• This item is of moderate difficulty.

• The total test score (TTS) for the correct response is not greater than for one or more of the incorrect responses. It is
expected that the TTS for examinees who select the correct response will be higher than for examinees who select an
incorrect response. Consider reviewing the content of the item to determine why this is the case.

• This item performs moderately well statistically.

• Compared with other incorrect alternatives, few examinees selected incorrect alternative B for this item. Consider
reviewing the content of this alternative to determine if it can be revised to attract more examinees.
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Item 6

Item 6 - Key = B, Difficulty = 0.613, Discrimination (CPBR) = 0.291

Correlation coefficients

Biserial correlation = 0.421
Point-biserial correlation = 0.333
Corrected biserial correlation = 0.291
Corrected point-biserial correlation = 0.291

Group breakdowns

Total Top Mid Low TTS

No Answer 0.000 0.000 0.000 0.000 N/A
A 0.191 0.000 0.269 0.212 37.116
B 0.613 0.926 0.546 0.442 43.848
C 0.107 0.037 0.084 0.231 34.000
D 0.089 0.037 0.101 0.115 38.650

Summary

• This item is of moderate difficulty.

• This item has moderate discrimination.
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Item 7

Item 7 - Key = A, Difficulty = 0.578, Discrimination (CPBR) = 0.303

Correlation coefficients

Biserial correlation = 0.446
Point-biserial correlation = 0.345
Corrected biserial correlation = 0.303
Corrected point-biserial correlation = 0.303

Group breakdowns

Total Top Mid Low TTS

No Answer 0.000 0.000 0.000 0.000 N/A
A 0.578 0.833 0.555 0.365 44.169
B 0.147 0.019 0.151 0.269 34.909
C 0.062 0.037 0.050 0.115 34.429
D 0.213 0.111 0.244 0.250 38.750

Summary

• This item is of moderate difficulty.

• This item has moderate discrimination.
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Item 8

Item 8 - Key = D, Difficulty = 0.716, Discrimination (CPBR) = 0.115

Correlation coefficients

Biserial correlation = 0.179
Point-biserial correlation = 0.157
Corrected biserial correlation = 0.115
Corrected point-biserial correlation = 0.115

Group breakdowns

Total Top Mid Low TTS

No Answer 0.000 0.000 0.000 0.000 N/A
A 0.133 0.130 0.168 0.058 42.367
B 0.071 0.037 0.084 0.077 38.813
C 0.080 0.037 0.042 0.212 31.444
D 0.716 0.796 0.706 0.654 42.099

Summary

• This item is of moderate difficulty.

• The total test score (TTS) for the correct response is not greater than for one or more of the incorrect responses. It is
expected that the TTS for examinees who select the correct response will be higher than for examinees who select an
incorrect response. Consider reviewing the content of the item to determine why this is the case.

• This item has low discrimination. Examinees of low ability should have a much lower probability of answering an item
correctly than do examinees of high ability. Low discrimination statistics suggest that this may not be what is occurring.
Consider reviewing and revising the content of this item to see if ambiguity in the item content can be limited. Also,
consider that item difficulty affects item discrimination in that items of high and low difficulty may have lower
discrimination statistics.

• There are a greater proportion of examinees of high ability selecting incorrect alternative A than there are of
examinees of low ability. This is unexpected because examinees of low ability should select incorrect alternatives more
than do examinees of high ability. Consider reviewing the content of the incorrect alternative to determine why the
examinees of high ability are selecting it more often than are examinees of low ability.
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Item 9

Item 9 - Key = A, Difficulty = 0.773, Discrimination (CPBR) = 0.389

Correlation coefficients

Biserial correlation = 0.455
Point-biserial correlation = 0.423
Corrected biserial correlation = 0.389
Corrected point-biserial correlation = 0.389

Group breakdowns

Total Top Mid Low TTS

No Answer 0.000 0.000 0.000 0.000 N/A
A 0.773 0.963 0.832 0.442 43.471
B 0.062 0.000 0.042 0.173 29.500
C 0.093 0.019 0.092 0.173 34.048
D 0.071 0.019 0.034 0.212 34.000

Summary

• This item is of lesser difficulty.

• This item has high discrimination.
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Item 10

Item 10 - Key = C, Difficulty = 0.756, Discrimination (CPBR) = 0.036

Correlation coefficients

Biserial correlation = 0.083
Point-biserial correlation = 0.077
Corrected biserial correlation = 0.036
Corrected point-biserial correlation = 0.036

Group breakdowns

Total Top Mid Low TTS

No Answer 0.004 0.000 0.008 0.000 33.000
A 0.111 0.037 0.126 0.154 37.480
B 0.040 0.037 0.042 0.038 39.778
C 0.756 0.833 0.723 0.750 41.512
D 0.089 0.093 0.101 0.058 42.550

Summary

• This item is of lesser difficulty.

• The total test score (TTS) for the correct response is not greater than for one or more of the incorrect responses. It is
expected that the TTS for examinees who select the correct response will be higher than for examinees who select an
incorrect response. Consider reviewing the content of the item to determine why this is the case.

• This item has low discrimination. Examinees of low ability should have a much lower probability of answering an item
correctly than do examinees of high ability. Low discrimination statistics suggest that this may not be what is occurring.
Consider reviewing and revising the content of this item to see if ambiguity in the item content can be limited. Also,
consider that item difficulty affects item discrimination in that items of high and low difficulty may have lower
discrimination statistics.

• There are a greater proportion of examinees of high ability selecting incorrect alternative D than there are of
examinees of low ability. This is unexpected because examinees of low ability should select incorrect alternatives more
than do examinees of high ability. Consider reviewing the content of the incorrect alternative to determine why the
examinees of high ability are selecting it more often than are examinees of low ability.
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Item 11

Item 11 - Key = A, Difficulty = 0.618, Discrimination (CPBR) = 0.419

Correlation coefficients

Biserial correlation = 0.593
Point-biserial correlation = 0.456
Corrected biserial correlation = 0.419
Corrected point-biserial correlation = 0.419

Group breakdowns

Total Top Mid Low TTS

No Answer 0.004 0.000 0.000 0.019 25.000
A 0.618 0.889 0.630 0.308 44.849
B 0.084 0.000 0.050 0.250 30.053
C 0.204 0.111 0.218 0.269 37.217
D 0.089 0.000 0.101 0.154 34.700

Summary

• This item is of moderate difficulty.

• This item has high discrimination.

http://integrity.castlerockresearch.com Tuesday, March 29, 2005 Page 15



Item 12

Item 12 - Key = B, Difficulty = 0.760, Discrimination (CPBR) = 0.350

Correlation coefficients

Biserial correlation = 0.422
Point-biserial correlation = 0.385
Corrected biserial correlation = 0.350
Corrected point-biserial correlation = 0.350

Group breakdowns

Total Top Mid Low TTS

No Answer 0.000 0.000 0.000 0.000 N/A
A 0.116 0.000 0.092 0.288 31.423
B 0.760 0.944 0.798 0.481 43.339
C 0.102 0.056 0.084 0.192 36.609
D 0.022 0.000 0.025 0.038 33.200

Summary

• This item is of lesser difficulty.

• This item performs moderately well statistically.

• Compared with other incorrect alternatives, few examinees selected incorrect alternative D for this item. Consider
reviewing the content of this alternative to determine if it can be revised to attract more examinees.
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Item 13

Item 13 - Key = D, Difficulty = 0.542, Discrimination (CPBR) = 0.356

Correlation coefficients

Biserial correlation = 0.530
Point-biserial correlation = 0.397
Corrected biserial correlation = 0.356
Corrected point-biserial correlation = 0.356

Group breakdowns

Total Top Mid Low TTS

No Answer 0.000 0.000 0.000 0.000 N/A
A 0.102 0.056 0.101 0.154 37.391
B 0.080 0.019 0.076 0.154 33.056
C 0.276 0.130 0.269 0.442 37.129
D 0.542 0.796 0.555 0.250 44.910

Summary

• This item is of moderate difficulty.

• This item has high discrimination.
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Item 14

Item 14 - Key = C, Difficulty = 0.587, Discrimination (CPBR) = 0.239

Correlation coefficients

Biserial correlation = 0.359
Point-biserial correlation = 0.283
Corrected biserial correlation = 0.239
Corrected point-biserial correlation = 0.239

Group breakdowns

Total Top Mid Low TTS

No Answer 0.000 0.000 0.000 0.000 N/A
A 0.138 0.056 0.185 0.115 39.516
B 0.093 0.019 0.092 0.173 34.952
C 0.587 0.833 0.529 0.462 43.561
D 0.182 0.093 0.193 0.250 37.244

Summary

• This item is of moderate difficulty.

• This item has moderate discrimination.
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Item 15

Item 15 - Key = D, Difficulty = 0.489, Discrimination (CPBR) = 0.384

Correlation coefficients

Biserial correlation = 0.583
Point-biserial correlation = 0.424
Corrected biserial correlation = 0.384
Corrected point-biserial correlation = 0.384

Group breakdowns

Total Top Mid Low TTS

No Answer 0.000 0.000 0.000 0.000 N/A
A 0.067 0.019 0.067 0.115 34.533
B 0.236 0.093 0.202 0.462 35.170
C 0.209 0.111 0.261 0.192 39.021
D 0.489 0.778 0.471 0.231 45.636

Summary

• This item is of moderate difficulty.

• This item has high discrimination.
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Item 16

Item 16 - Key = B, Difficulty = 0.578, Discrimination (CPBR) = 0.376

Correlation coefficients

Biserial correlation = 0.548
Point-biserial correlation = 0.415
Corrected biserial correlation = 0.376
Corrected point-biserial correlation = 0.376

Group breakdowns

Total Top Mid Low TTS

No Answer 0.009 0.019 0.008 0.000 45.000
A 0.058 0.000 0.042 0.154 29.923
B 0.578 0.815 0.588 0.308 44.808
C 0.311 0.167 0.328 0.423 37.100
D 0.044 0.000 0.034 0.115 33.500

Summary

• This item is of moderate difficulty.

• The total test score (TTS) for the correct response is not greater than for one or more of the incorrect responses. It is
expected that the TTS for examinees who select the correct response will be higher than for examinees who select an
incorrect response. Consider reviewing the content of the item to determine why this is the case.

• This item performs very well statistically.
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Item 17

Item 17 - Key = C, Difficulty = 0.644, Discrimination (CPBR) = 0.436

Correlation coefficients

Biserial correlation = 0.602
Point-biserial correlation = 0.472
Corrected biserial correlation = 0.436
Corrected point-biserial correlation = 0.436

Group breakdowns

Total Top Mid Low TTS

No Answer 0.000 0.000 0.000 0.000 N/A
A 0.071 0.037 0.067 0.115 33.750
B 0.116 0.037 0.101 0.231 34.577
C 0.644 0.889 0.681 0.308 44.759
D 0.169 0.037 0.151 0.346 34.395

Summary

• This item is of moderate difficulty.

• This item has high discrimination.
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Item 18

Item 18 - Key = D, Difficulty = 0.573, Discrimination (CPBR) = 0.489

Correlation coefficients

Biserial correlation = 0.720
Point-biserial correlation = 0.524
Corrected biserial correlation = 0.489
Corrected point-biserial correlation = 0.489

Group breakdowns

Total Top Mid Low TTS

No Answer 0.000 0.000 0.000 0.000 N/A
A 0.111 0.000 0.126 0.192 33.960
B 0.111 0.074 0.084 0.212 36.080
C 0.204 0.037 0.202 0.385 34.174
D 0.573 0.889 0.588 0.212 45.837

Summary

• This item is of moderate difficulty.

• This item has high discrimination.
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Item 19

Item 19 - Key = A, Difficulty = 0.804, Discrimination (CPBR) = 0.195

Correlation coefficients

Biserial correlation = 0.231
Point-biserial correlation = 0.231
Corrected biserial correlation = 0.195
Corrected point-biserial correlation = 0.195

Group breakdowns

Total Top Mid Low TTS

No Answer 0.000 0.000 0.000 0.000 N/A
A 0.804 0.926 0.782 0.731 42.254
B 0.147 0.074 0.168 0.173 37.667
C 0.009 0.000 0.017 0.000 41.000
D 0.040 0.000 0.034 0.096 29.222

Summary

• This item is of lesser difficulty.

• This item has low discrimination. Examinees of low ability should have a much lower probability of answering an item
correctly than do examinees of high ability. Low discrimination statistics suggest that this may not be what is occurring.
Consider reviewing and revising the content of this item to see if ambiguity in the item content can be limited. Also,
consider that item difficulty affects item discrimination in that items of high and low difficulty may have lower
discrimination statistics.

• Compared with other incorrect alternatives, few examinees selected incorrect alternative C for this item. Consider
reviewing the content of this alternative to determine if it can be revised to attract more examinees.
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Item 20

Item 20 - Key = C, Difficulty = 0.422, Discrimination (CPBR) = 0.178

Correlation coefficients

Biserial correlation = 0.286
Point-biserial correlation = 0.223
Corrected biserial correlation = 0.178
Corrected point-biserial correlation = 0.178

Group breakdowns

Total Top Mid Low TTS

No Answer 0.004 0.000 0.000 0.019 25.000
A 0.240 0.148 0.277 0.250 39.278
B 0.151 0.185 0.118 0.192 40.706
C 0.422 0.574 0.420 0.269 43.811
D 0.182 0.093 0.185 0.269 37.659

Summary

• This item is of moderate difficulty.

• This item has low discrimination. Examinees of low ability should have a much lower probability of answering an item
correctly than do examinees of high ability. Low discrimination statistics suggest that this may not be what is occurring.
Consider reviewing and revising the content of this item to see if ambiguity in the item content can be limited. Also,
consider that item difficulty affects item discrimination in that items of high and low difficulty may have lower
discrimination statistics.
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Item 21

Item 21 - Key = A, Difficulty = 0.542, Discrimination (CPBR) = 0.335

Correlation coefficients

Biserial correlation = 0.500
Point-biserial correlation = 0.377
Corrected biserial correlation = 0.335
Corrected point-biserial correlation = 0.335

Group breakdowns

Total Top Mid Low TTS

No Answer 0.004 0.000 0.000 0.019 25.000
A 0.542 0.759 0.546 0.308 44.713
B 0.049 0.000 0.050 0.096 33.091
C 0.236 0.074 0.227 0.423 34.698
D 0.169 0.167 0.176 0.154 40.868

Summary

• This item is of moderate difficulty.

• This item performs moderately well statistically.

• There are a greater proportion of examinees of high ability selecting incorrect alternative D than there are of
examinees of low ability. This is unexpected because examinees of low ability should select incorrect alternatives more
than do examinees of high ability. Consider reviewing the content of the incorrect alternative to determine why the
examinees of high ability are selecting it more often than are examinees of low ability.
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Item 22

Item 22 - Key = C, Difficulty = 0.627, Discrimination (CPBR) = 0.289

Correlation coefficients

Biserial correlation = 0.414
Point-biserial correlation = 0.331
Corrected biserial correlation = 0.289
Corrected point-biserial correlation = 0.289

Group breakdowns

Total Top Mid Low TTS

No Answer 0.004 0.000 0.000 0.019 25.000
A 0.293 0.111 0.294 0.481 35.091
B 0.031 0.019 0.042 0.019 40.571
C 0.627 0.833 0.605 0.462 43.752
D 0.044 0.037 0.059 0.019 44.200

Summary

• This item is of moderate difficulty.

• The total test score (TTS) for the correct response is not greater than for one or more of the incorrect responses. It is
expected that the TTS for examinees who select the correct response will be higher than for examinees who select an
incorrect response. Consider reviewing the content of the item to determine why this is the case.

• This item performs moderately well statistically.

• There are a greater proportion of examinees of high ability selecting incorrect alternative D than there are of
examinees of low ability. This is unexpected because examinees of low ability should select incorrect alternatives more
than do examinees of high ability. Consider reviewing the content of the incorrect alternative to determine why the
examinees of high ability are selecting it more often than are examinees of low ability.
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Item 23

Item 23 - Key = D, Difficulty = 0.676, Discrimination (CPBR) = 0.372

Correlation coefficients

Biserial correlation = 0.500
Point-biserial correlation = 0.410
Corrected biserial correlation = 0.372
Corrected point-biserial correlation = 0.372

Group breakdowns

Total Top Mid Low TTS

No Answer 0.000 0.000 0.000 0.000 N/A
A 0.071 0.000 0.050 0.192 32.438
B 0.138 0.019 0.176 0.173 37.806
C 0.116 0.000 0.134 0.192 32.654
D 0.676 0.981 0.639 0.442 44.053

Summary

• This item is of moderate difficulty.

• This item has high discrimination.
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Item 24

Item 24 - Key = A, Difficulty = 0.560, Discrimination (CPBR) = 0.385

Correlation coefficients

Biserial correlation = 0.567
Point-biserial correlation = 0.425
Corrected biserial correlation = 0.385
Corrected point-biserial correlation = 0.385

Group breakdowns

Total Top Mid Low TTS

No Answer 0.000 0.000 0.000 0.000 N/A
A 0.560 0.870 0.563 0.231 45.032
B 0.227 0.111 0.277 0.231 39.569
C 0.084 0.000 0.050 0.250 30.158
D 0.129 0.019 0.109 0.288 33.483

Summary

• This item is of moderate difficulty.

• This item has high discrimination.
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Item 25

Item 25 - Key = D, Difficulty = 0.809, Discrimination (CPBR) = 0.443

Correlation coefficients

Biserial correlation = 0.478
Point-biserial correlation = 0.472
Corrected biserial correlation = 0.443
Corrected point-biserial correlation = 0.443

Group breakdowns

Total Top Mid Low TTS

No Answer 0.004 0.000 0.000 0.019 25.000
A 0.071 0.000 0.059 0.173 29.625
B 0.067 0.000 0.042 0.192 30.267
C 0.049 0.000 0.059 0.077 33.636
D 0.809 1.000 0.840 0.538 43.478

Summary

• This item is of lesser difficulty.

• This item has high discrimination.
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Item 26

Item 26 - Key = A, Difficulty = 0.596, Discrimination (CPBR) = 0.379

Correlation coefficients

Biserial correlation = 0.546
Point-biserial correlation = 0.418
Corrected biserial correlation = 0.379
Corrected point-biserial correlation = 0.379

Group breakdowns

Total Top Mid Low TTS

No Answer 0.000 0.000 0.000 0.000 N/A
A 0.596 0.889 0.580 0.327 44.694
B 0.089 0.019 0.084 0.173 34.800
C 0.204 0.037 0.202 0.385 34.696
D 0.111 0.056 0.134 0.115 38.200

Summary

• This item is of moderate difficulty.

• This item has high discrimination.
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Item 27

Item 27 - Key = D, Difficulty = 0.618, Discrimination (CPBR) = 0.354

Correlation coefficients

Biserial correlation = 0.503
Point-biserial correlation = 0.393
Corrected biserial correlation = 0.354
Corrected point-biserial correlation = 0.354

Group breakdowns

Total Top Mid Low TTS

No Answer 0.000 0.000 0.000 0.000 N/A
A 0.116 0.000 0.109 0.250 32.231
B 0.142 0.074 0.160 0.173 37.031
C 0.124 0.019 0.143 0.192 37.571
D 0.618 0.907 0.588 0.385 44.324

Summary

• This item is of moderate difficulty.

• This item has high discrimination.
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Item 28

Item 28 - Key = D, Difficulty = 0.671, Discrimination (CPBR) = 0.349

Correlation coefficients

Biserial correlation = 0.474
Point-biserial correlation = 0.388
Corrected biserial correlation = 0.349
Corrected point-biserial correlation = 0.349

Group breakdowns

Total Top Mid Low TTS

No Answer 0.000 0.000 0.000 0.000 N/A
A 0.076 0.019 0.076 0.135 35.176
B 0.071 0.019 0.050 0.173 32.500
C 0.182 0.074 0.176 0.308 36.244
D 0.671 0.889 0.697 0.385 43.921

Summary

• This item is of moderate difficulty.

• This item has moderate discrimination.
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Item 29

Item 29 - Key = B, Difficulty = 0.831, Discrimination (CPBR) = 0.313

Correlation coefficients

Biserial correlation = 0.328
Point-biserial correlation = 0.345
Corrected biserial correlation = 0.313
Corrected point-biserial correlation = 0.313

Group breakdowns

Total Top Mid Low TTS

No Answer 0.000 0.000 0.000 0.000 N/A
A 0.031 0.019 0.034 0.038 39.429
B 0.831 0.963 0.849 0.654 42.695
C 0.044 0.019 0.034 0.096 34.500
D 0.093 0.000 0.084 0.212 30.048

Summary

• This item is of lesser difficulty.

• This item has moderate discrimination.

http://integrity.castlerockresearch.com Tuesday, March 29, 2005 Page 33



Item 30

Item 30 - Key = B, Difficulty = 0.640, Discrimination (CPBR) = 0.301

Correlation coefficients

Biserial correlation = 0.425
Point-biserial correlation = 0.342
Corrected biserial correlation = 0.301
Corrected point-biserial correlation = 0.301

Group breakdowns

Total Top Mid Low TTS

No Answer 0.000 0.000 0.000 0.000 N/A
A 0.107 0.000 0.084 0.269 31.500
B 0.640 0.833 0.664 0.385 43.764
C 0.133 0.037 0.134 0.231 35.267
D 0.120 0.130 0.118 0.115 41.481

Summary

• This item is of moderate difficulty.

• This item performs moderately well statistically.

• There are a greater proportion of examinees of high ability selecting incorrect alternative D than there are of
examinees of low ability. This is unexpected because examinees of low ability should select incorrect alternatives more
than do examinees of high ability. Consider reviewing the content of the incorrect alternative to determine why the
examinees of high ability are selecting it more often than are examinees of low ability.
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Item 31

Item 31 - Key = C, Difficulty = 0.364, Discrimination (CPBR) = 0.104

Correlation coefficients

Biserial correlation = 0.184
Point-biserial correlation = 0.149
Corrected biserial correlation = 0.104
Corrected point-biserial correlation = 0.104

Group breakdowns

Total Top Mid Low TTS

No Answer 0.000 0.000 0.000 0.000 N/A
A 0.276 0.093 0.319 0.365 36.968
B 0.124 0.167 0.126 0.077 44.679
C 0.364 0.574 0.269 0.365 43.134
D 0.236 0.167 0.286 0.192 40.679

Summary

• This item is of moderate difficulty.

• The total test score (TTS) for the correct response is not greater than for one or more of the incorrect responses. It is
expected that the TTS for examinees who select the correct response will be higher than for examinees who select an
incorrect response. Consider reviewing the content of the item to determine why this is the case.

• This item has low discrimination. Examinees of low ability should have a much lower probability of answering an item
correctly than do examinees of high ability. Low discrimination statistics suggest that this may not be what is occurring.
Consider reviewing and revising the content of this item to see if ambiguity in the item content can be limited. Also,
consider that item difficulty affects item discrimination in that items of high and low difficulty may have lower
discrimination statistics.

• There are a greater proportion of examinees of high ability selecting incorrect alternative B than there are of
examinees of low ability. This is unexpected because examinees of low ability should select incorrect alternatives more
than do examinees of high ability. Consider reviewing the content of the incorrect alternative to determine why the
examinees of high ability are selecting it more often than are examinees of low ability.
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Item 32

Item 32 - Key = A, Difficulty = 0.698, Discrimination (CPBR) = 0.433

Correlation coefficients

Biserial correlation = 0.564
Point-biserial correlation = 0.468
Corrected biserial correlation = 0.433
Corrected point-biserial correlation = 0.433

Group breakdowns

Total Top Mid Low TTS

No Answer 0.000 0.000 0.000 0.000 N/A
A 0.698 0.981 0.706 0.385 44.306
B 0.067 0.019 0.042 0.173 30.867
C 0.089 0.000 0.067 0.231 32.750
D 0.147 0.000 0.185 0.212 35.212

Summary

• This item is of moderate difficulty.

• This item has high discrimination.
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Item 33

Item 33 - Key = D, Difficulty = 0.542, Discrimination (CPBR) = 0.187

Correlation coefficients

Biserial correlation = 0.296
Point-biserial correlation = 0.232
Corrected biserial correlation = 0.187
Corrected point-biserial correlation = 0.187

Group breakdowns

Total Top Mid Low TTS

No Answer 0.000 0.000 0.000 0.000 N/A
A 0.053 0.019 0.050 0.096 34.000
B 0.151 0.019 0.168 0.250 35.765
C 0.253 0.296 0.227 0.269 40.860
D 0.542 0.667 0.555 0.385 43.303

Summary

• This item is of moderate difficulty.

• This item has low discrimination. Examinees of low ability should have a much lower probability of answering an item
correctly than do examinees of high ability. Low discrimination statistics suggest that this may not be what is occurring.
Consider reviewing and revising the content of this item to see if ambiguity in the item content can be limited. Also,
consider that item difficulty affects item discrimination in that items of high and low difficulty may have lower
discrimination statistics.

• There are a greater proportion of examinees of high ability selecting incorrect alternative C than there are of
examinees of low ability. This is unexpected because examinees of low ability should select incorrect alternatives more
than do examinees of high ability. Consider reviewing the content of the incorrect alternative to determine why the
examinees of high ability are selecting it more often than are examinees of low ability.
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Item 34

Item 34 - Key = B, Difficulty = 0.369, Discrimination (CPBR) = 0.280

Correlation coefficients

Biserial correlation = 0.425
Point-biserial correlation = 0.322
Corrected biserial correlation = 0.280
Corrected point-biserial correlation = 0.280

Group breakdowns

Total Top Mid Low TTS

No Answer 0.004 0.019 0.000 0.000 52.000
A 0.182 0.111 0.185 0.250 38.610
B 0.369 0.611 0.345 0.173 45.506
C 0.267 0.185 0.303 0.269 38.667
D 0.178 0.074 0.168 0.308 37.600

Summary

• This item is of moderate difficulty.

• The total test score (TTS) for the correct response is not greater than for one or more of the incorrect responses. It is
expected that the TTS for examinees who select the correct response will be higher than for examinees who select an
incorrect response. Consider reviewing the content of the item to determine why this is the case.

• This item performs moderately well statistically.

http://integrity.castlerockresearch.com Tuesday, March 29, 2005 Page 38



Item 35

Item 35 - Key = B, Difficulty = 0.471, Discrimination (CPBR) = 0.162

Correlation coefficients

Biserial correlation = 0.266
Point-biserial correlation = 0.208
Corrected biserial correlation = 0.162
Corrected point-biserial correlation = 0.162

Group breakdowns

Total Top Mid Low TTS

No Answer 0.000 0.000 0.000 0.000 N/A
A 0.093 0.037 0.109 0.115 39.000
B 0.471 0.667 0.420 0.385 43.377
C 0.324 0.296 0.387 0.212 41.836
D 0.111 0.000 0.084 0.288 30.600

Summary

• This item is of moderate difficulty.

• This item has low discrimination. Examinees of low ability should have a much lower probability of answering an item
correctly than do examinees of high ability. Low discrimination statistics suggest that this may not be what is occurring.
Consider reviewing and revising the content of this item to see if ambiguity in the item content can be limited. Also,
consider that item difficulty affects item discrimination in that items of high and low difficulty may have lower
discrimination statistics.

• There are a greater proportion of examinees of high ability selecting incorrect alternative C than there are of
examinees of low ability. This is unexpected because examinees of low ability should select incorrect alternatives more
than do examinees of high ability. Consider reviewing the content of the incorrect alternative to determine why the
examinees of high ability are selecting it more often than are examinees of low ability.
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Item 36

Item 36 - Key = D, Difficulty = 0.458, Discrimination (CPBR) = 0.348

Correlation coefficients

Biserial correlation = 0.532
Point-biserial correlation = 0.389
Corrected biserial correlation = 0.348
Corrected point-biserial correlation = 0.348

Group breakdowns

Total Top Mid Low TTS

No Answer 0.000 0.000 0.000 0.000 N/A
A 0.049 0.000 0.025 0.154 28.818
B 0.196 0.037 0.210 0.327 36.341
C 0.298 0.259 0.303 0.327 39.254
D 0.458 0.704 0.462 0.192 45.534

Summary

• This item is of moderate difficulty.

• This item performs moderately well statistically.

• Compared with other incorrect alternatives, few examinees selected incorrect alternative A for this item. Consider
reviewing the content of this alternative to determine if it can be revised to attract more examinees.
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Item 37

Item 37 - Key = C, Difficulty = 0.742, Discrimination (CPBR) = 0.380

Correlation coefficients

Biserial correlation = 0.469
Point-biserial correlation = 0.416
Corrected biserial correlation = 0.380
Corrected point-biserial correlation = 0.380

Group breakdowns

Total Top Mid Low TTS

No Answer 0.000 0.000 0.000 0.000 N/A
A 0.080 0.019 0.059 0.192 32.222
B 0.129 0.019 0.168 0.154 36.862
C 0.742 0.963 0.765 0.462 43.641
D 0.049 0.000 0.008 0.192 27.182

Summary

• This item is of moderate difficulty.

• This item has high discrimination.
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Item 38

Item 38 - Key = B, Difficulty = 0.338, Discrimination (CPBR) = 0.223

Correlation coefficients

Biserial correlation = 0.338
Point-biserial correlation = 0.266
Corrected biserial correlation = 0.223
Corrected point-biserial correlation = 0.223

Group breakdowns

Total Top Mid Low TTS

No Answer 0.000 0.000 0.000 0.000 N/A
A 0.160 0.093 0.160 0.231 37.472
B 0.338 0.648 0.210 0.308 44.987
C 0.440 0.241 0.597 0.288 40.475
D 0.062 0.019 0.034 0.173 32.929

Summary

• This item is of greater difficulty.

• This item has low discrimination. Examinees of low ability should have a much lower probability of answering an item
correctly than do examinees of high ability. Low discrimination statistics suggest that this may not be what is occurring.
Consider reviewing and revising the content of this item to see if ambiguity in the item content can be limited. Also,
consider that item difficulty affects item discrimination in that items of high and low difficulty may have lower
discrimination statistics.
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Item 39

Item 39 - Key = A, Difficulty = 0.924, Discrimination (CPBR) = 0.251

Correlation coefficients

Biserial correlation = 0.182
Point-biserial correlation = 0.275
Corrected biserial correlation = 0.251
Corrected point-biserial correlation = 0.251

Group breakdowns

Total Top Mid Low TTS

No Answer 0.000 0.000 0.000 0.000 N/A
A 0.924 1.000 0.933 0.827 41.880
B 0.018 0.000 0.008 0.058 25.750
C 0.022 0.000 0.025 0.038 32.400
D 0.036 0.000 0.034 0.077 32.500

Summary

• This item may be too easy. Item difficulty affects item discrimination in that items of high and low difficulty may have
lower discrimination statistics. Consider reviewing the content of the item to determine if it should be made more
difficult.

• This item performs moderately well statistically.
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Item 40

Item 40 - Key = A, Difficulty = 0.604, Discrimination (CPBR) = 0.330

Correlation coefficients

Biserial correlation = 0.475
Point-biserial correlation = 0.370
Corrected biserial correlation = 0.330
Corrected point-biserial correlation = 0.330

Group breakdowns

Total Top Mid Low TTS

No Answer 0.000 0.000 0.000 0.000 N/A
A 0.604 0.778 0.672 0.269 44.221
B 0.089 0.056 0.101 0.096 39.100
C 0.236 0.167 0.185 0.423 36.830
D 0.071 0.000 0.042 0.212 30.500

Summary

• This item is of moderate difficulty.

• This item has moderate discrimination.
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Item 41

Item 41 - Key = B, Difficulty = 0.662, Discrimination (CPBR) = 0.430

Correlation coefficients

Biserial correlation = 0.584
Point-biserial correlation = 0.466
Corrected biserial correlation = 0.430
Corrected point-biserial correlation = 0.430

Group breakdowns

Total Top Mid Low TTS

No Answer 0.000 0.000 0.000 0.000 N/A
A 0.040 0.019 0.017 0.115 33.444
B 0.662 0.870 0.723 0.308 44.570
C 0.169 0.056 0.168 0.288 35.474
D 0.129 0.056 0.092 0.288 32.621

Summary

• This item is of moderate difficulty.

• This item has high discrimination.
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Item 42

Item 42 - Key = C, Difficulty = 0.582, Discrimination (CPBR) = 0.255

Correlation coefficients

Biserial correlation = 0.381
Point-biserial correlation = 0.298
Corrected biserial correlation = 0.255
Corrected point-biserial correlation = 0.255

Group breakdowns

Total Top Mid Low TTS

No Answer 0.004 0.000 0.000 0.019 25.000
A 0.147 0.074 0.143 0.231 36.576
B 0.151 0.148 0.134 0.192 38.294
C 0.582 0.704 0.613 0.385 43.725
D 0.116 0.074 0.109 0.173 37.462

Summary

• This item is of moderate difficulty.

• This item has moderate discrimination.
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Item 43

Item 43 - Key = C, Difficulty = 0.720, Discrimination (CPBR) = 0.139

Correlation coefficients

Biserial correlation = 0.205
Point-biserial correlation = 0.181
Corrected biserial correlation = 0.139
Corrected point-biserial correlation = 0.139

Group breakdowns

Total Top Mid Low TTS

No Answer 0.000 0.000 0.000 0.000 N/A
A 0.027 0.000 0.034 0.038 34.500
B 0.196 0.130 0.218 0.212 40.114
C 0.720 0.852 0.697 0.635 42.241
D 0.058 0.019 0.050 0.115 32.385

Summary

• This item is of moderate difficulty.

• This item has low discrimination. Examinees of low ability should have a much lower probability of answering an item
correctly than do examinees of high ability. Low discrimination statistics suggest that this may not be what is occurring.
Consider reviewing and revising the content of this item to see if ambiguity in the item content can be limited. Also,
consider that item difficulty affects item discrimination in that items of high and low difficulty may have lower
discrimination statistics.

http://integrity.castlerockresearch.com Tuesday, March 29, 2005 Page 47



Item 44

Item 44 - Key = B, Difficulty = 0.689, Discrimination (CPBR) = 0.341

Correlation coefficients

Biserial correlation = 0.455
Point-biserial correlation = 0.380
Corrected biserial correlation = 0.341
Corrected point-biserial correlation = 0.341

Group breakdowns

Total Top Mid Low TTS

No Answer 0.000 0.000 0.000 0.000 N/A
A 0.138 0.037 0.134 0.250 35.194
B 0.689 0.944 0.672 0.462 43.748
C 0.129 0.019 0.134 0.231 34.172
D 0.044 0.000 0.059 0.058 37.300

Summary

• This item is of moderate difficulty.

• This item has moderate discrimination.
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Item 45

Item 45 - Key = C, Difficulty = 0.631, Discrimination (CPBR) = 0.322

Correlation coefficients

Biserial correlation = 0.455
Point-biserial correlation = 0.362
Corrected biserial correlation = 0.322
Corrected point-biserial correlation = 0.322

Group breakdowns

Total Top Mid Low TTS

No Answer 0.000 0.000 0.000 0.000 N/A
A 0.067 0.019 0.067 0.115 33.667
B 0.244 0.148 0.261 0.308 37.782
C 0.631 0.815 0.630 0.442 43.979
D 0.058 0.019 0.042 0.135 31.385

Summary

• This item is of moderate difficulty.

• This item has moderate discrimination.
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Item 46

Item 46 - Key = D, Difficulty = 0.747, Discrimination (CPBR) = 0.387

Correlation coefficients

Biserial correlation = 0.474
Point-biserial correlation = 0.422
Corrected biserial correlation = 0.387
Corrected point-biserial correlation = 0.387

Group breakdowns

Total Top Mid Low TTS

No Answer 0.000 0.000 0.000 0.000 N/A
A 0.076 0.000 0.076 0.154 35.059
B 0.062 0.037 0.050 0.115 34.929
C 0.116 0.000 0.092 0.288 31.462
D 0.747 0.963 0.782 0.442 43.649

Summary

• This item is of moderate difficulty.

• This item has high discrimination.
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Item 47

Item 47 - Key = C, Difficulty = 0.622, Discrimination (CPBR) = 0.288

Correlation coefficients

Biserial correlation = 0.414
Point-biserial correlation = 0.329
Corrected biserial correlation = 0.288
Corrected point-biserial correlation = 0.288

Group breakdowns

Total Top Mid Low TTS

No Answer 0.000 0.000 0.000 0.000 N/A
A 0.076 0.019 0.084 0.115 34.176
B 0.253 0.241 0.210 0.365 38.316
C 0.622 0.741 0.681 0.365 43.764
D 0.049 0.000 0.025 0.154 31.273

Summary

• This item is of moderate difficulty.

• This item has moderate discrimination.
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Item 48

Item 48 - Key = D, Difficulty = 0.671, Discrimination (CPBR) = 0.281

Correlation coefficients

Biserial correlation = 0.388
Point-biserial correlation = 0.321
Corrected biserial correlation = 0.281
Corrected point-biserial correlation = 0.281

Group breakdowns

Total Top Mid Low TTS

No Answer 0.000 0.000 0.000 0.000 N/A
A 0.062 0.037 0.067 0.077 37.429
B 0.080 0.037 0.067 0.154 35.167
C 0.187 0.111 0.176 0.288 36.214
D 0.671 0.815 0.689 0.481 43.430

Summary

• This item is of moderate difficulty.

• This item has moderate discrimination.
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Item 49

Item 49 - Key = A, Difficulty = 0.693, Discrimination (CPBR) = 0.444

Correlation coefficients

Biserial correlation = 0.582
Point-biserial correlation = 0.478
Corrected biserial correlation = 0.444
Corrected point-biserial correlation = 0.444

Group breakdowns

Total Top Mid Low TTS

No Answer 0.004 0.000 0.008 0.000 33.000
A 0.693 0.926 0.739 0.346 44.417
B 0.151 0.037 0.126 0.327 32.912
C 0.018 0.000 0.008 0.058 28.750
D 0.133 0.037 0.118 0.269 34.667

Summary

• This item is of moderate difficulty.

• This item performs very well statistically.

• Compared with other incorrect alternatives, few examinees selected incorrect alternative C for this item. Consider
reviewing the content of this alternative to determine if it can be revised to attract more examinees.
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Item 50

Item 50 - Key = C, Difficulty = 0.498, Discrimination (CPBR) = 0.262

Correlation coefficients

Biserial correlation = 0.402
Point-biserial correlation = 0.306
Corrected biserial correlation = 0.262
Corrected point-biserial correlation = 0.262

Group breakdowns

Total Top Mid Low TTS

No Answer 0.000 0.000 0.000 0.000 N/A
A 0.138 0.130 0.109 0.212 38.935
B 0.053 0.000 0.034 0.154 31.083
C 0.498 0.704 0.513 0.250 44.304
D 0.311 0.167 0.345 0.385 38.486

Summary

• This item is of moderate difficulty.

• This item has moderate discrimination.
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Item 51

Item 51 - Key = B, Difficulty = 0.698, Discrimination (CPBR) = 0.252

Correlation coefficients

Biserial correlation = 0.342
Point-biserial correlation = 0.292
Corrected biserial correlation = 0.252
Corrected point-biserial correlation = 0.252

Group breakdowns

Total Top Mid Low TTS

No Answer 0.000 0.000 0.000 0.000 N/A
A 0.169 0.056 0.160 0.308 35.474
B 0.698 0.907 0.697 0.481 43.083
C 0.058 0.037 0.059 0.077 37.385
D 0.076 0.000 0.084 0.135 37.529

Summary

• This item is of moderate difficulty.

• This item has moderate discrimination.
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Item 52

Item 52 - Key = D, Difficulty = 0.800, Discrimination (CPBR) = 0.263

Correlation coefficients

Biserial correlation = 0.302
Point-biserial correlation = 0.298
Corrected biserial correlation = 0.263
Corrected point-biserial correlation = 0.263

Group breakdowns

Total Top Mid Low TTS

No Answer 0.000 0.000 0.000 0.000 N/A
A 0.076 0.000 0.059 0.192 30.824
B 0.102 0.056 0.109 0.135 37.870
C 0.022 0.000 0.025 0.038 33.600
D 0.800 0.944 0.807 0.635 42.628

Summary

• This item is of lesser difficulty.

• This item has moderate discrimination.
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Item 53

Item 53 - Key = A, Difficulty = 0.529, Discrimination (CPBR) = 0.464

Correlation coefficients

Biserial correlation = 0.700
Point-biserial correlation = 0.501
Corrected biserial correlation = 0.464
Corrected point-biserial correlation = 0.464

Group breakdowns

Total Top Mid Low TTS

No Answer 0.000 0.000 0.000 0.000 N/A
A 0.529 0.778 0.588 0.135 46.050
B 0.124 0.074 0.126 0.173 36.893
C 0.280 0.130 0.227 0.558 34.873
D 0.067 0.019 0.059 0.135 35.067

Summary

• This item is of moderate difficulty.

• This item has high discrimination.
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Item 54

Item 54 - Key = D, Difficulty = 0.871, Discrimination (CPBR) = 0.310

Correlation coefficients

Biserial correlation = 0.287
Point-biserial correlation = 0.339
Corrected biserial correlation = 0.310
Corrected point-biserial correlation = 0.310

Group breakdowns

Total Top Mid Low TTS

No Answer 0.000 0.000 0.000 0.000 N/A
A 0.058 0.000 0.034 0.173 28.538
B 0.044 0.019 0.050 0.058 36.300
C 0.027 0.000 0.017 0.077 31.000
D 0.871 0.981 0.899 0.692 42.429

Summary

• This item is of lesser difficulty.

• This item has moderate discrimination.
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Item 55

Item 55 - Key = B, Difficulty = 0.631, Discrimination (CPBR) = 0.398

Correlation coefficients

Biserial correlation = 0.558
Point-biserial correlation = 0.436
Corrected biserial correlation = 0.398
Corrected point-biserial correlation = 0.398

Group breakdowns

Total Top Mid Low TTS

No Answer 0.000 0.000 0.000 0.000 N/A
A 0.080 0.000 0.067 0.192 30.833
B 0.631 0.852 0.664 0.327 44.577
C 0.067 0.000 0.042 0.192 29.800
D 0.222 0.148 0.227 0.288 38.080

Summary

• This item is of moderate difficulty.

• This item has high discrimination.
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Item 56

Item 56 - Key = D, Difficulty = 0.773, Discrimination (CPBR) = 0.375

Correlation coefficients

Biserial correlation = 0.440
Point-biserial correlation = 0.409
Corrected biserial correlation = 0.375
Corrected point-biserial correlation = 0.375

Group breakdowns

Total Top Mid Low TTS

No Answer 0.000 0.000 0.000 0.000 N/A
A 0.129 0.019 0.134 0.231 33.517
B 0.049 0.000 0.025 0.154 25.909
C 0.049 0.019 0.059 0.058 39.000
D 0.773 0.963 0.782 0.558 43.391

Summary

• This item is of lesser difficulty.

• This item has high discrimination.
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Item 57

Item 57 - Key = B, Difficulty = 0.604, Discrimination (CPBR) = 0.560

Correlation coefficients

Biserial correlation = 0.812
Point-biserial correlation = 0.591
Corrected biserial correlation = 0.560
Corrected point-biserial correlation = 0.560

Group breakdowns

Total Top Mid Low TTS

No Answer 0.000 0.000 0.000 0.000 N/A
A 0.076 0.000 0.076 0.154 35.294
B 0.604 0.907 0.672 0.135 46.110
C 0.147 0.019 0.126 0.327 32.333
D 0.173 0.074 0.126 0.385 33.282

Summary

• This item is of moderate difficulty.

• This item has high discrimination.
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Item 58

Item 58 - Key = B, Difficulty = 0.538, Discrimination (CPBR) = 0.384

Correlation coefficients

Biserial correlation = 0.572
Point-biserial correlation = 0.424
Corrected biserial correlation = 0.384
Corrected point-biserial correlation = 0.384

Group breakdowns

Total Top Mid Low TTS

No Answer 0.000 0.000 0.000 0.000 N/A
A 0.173 0.019 0.176 0.327 34.154
B 0.538 0.796 0.563 0.212 45.207
C 0.231 0.130 0.218 0.365 37.462
D 0.058 0.056 0.042 0.096 37.385

Summary

• This item is of moderate difficulty.

• This item has high discrimination.
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Item 59

Item 59 - Key = A, Difficulty = 0.738, Discrimination (CPBR) = 0.501

Correlation coefficients

Biserial correlation = 0.616
Point-biserial correlation = 0.532
Corrected biserial correlation = 0.501
Corrected point-biserial correlation = 0.501

Group breakdowns

Total Top Mid Low TTS

No Answer 0.000 0.000 0.000 0.000 N/A
A 0.738 0.963 0.807 0.346 44.404
B 0.044 0.019 0.034 0.096 32.800
C 0.062 0.000 0.034 0.192 28.857
D 0.156 0.019 0.126 0.365 32.371

Summary

• This item is of moderate difficulty.

• This item has high discrimination.

http://integrity.castlerockresearch.com Tuesday, March 29, 2005 Page 63



Item 60

Item 60 - Key = A, Difficulty = 0.662, Discrimination (CPBR) = 0.414

Correlation coefficients

Biserial correlation = 0.563
Point-biserial correlation = 0.451
Corrected biserial correlation = 0.414
Corrected point-biserial correlation = 0.414

Group breakdowns

Total Top Mid Low TTS

No Answer 0.000 0.000 0.000 0.000 N/A
A 0.662 0.907 0.672 0.385 44.456
B 0.120 0.019 0.134 0.192 34.037
C 0.080 0.019 0.059 0.192 33.778
D 0.138 0.056 0.134 0.231 35.000

Summary

• This item is of moderate difficulty.

• This item has high discrimination.
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Item 61

Item 61 - Key = D, Difficulty = 0.773, Discrimination (CPBR) = 0.256

Correlation coefficients

Biserial correlation = 0.311
Point-biserial correlation = 0.292
Corrected biserial correlation = 0.256
Corrected point-biserial correlation = 0.256

Group breakdowns

Total Top Mid Low TTS

No Answer 0.000 0.000 0.000 0.000 N/A
A 0.124 0.074 0.101 0.231 36.429
B 0.067 0.019 0.076 0.096 35.733
C 0.036 0.000 0.042 0.058 30.750
D 0.773 0.907 0.782 0.615 42.724

Summary

• This item is of lesser difficulty.

• This item has moderate discrimination.
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Item 62

Item 62 - Key = A, Difficulty = 0.804, Discrimination (CPBR) = 0.268

Correlation coefficients

Biserial correlation = 0.305
Point-biserial correlation = 0.303
Corrected biserial correlation = 0.268
Corrected point-biserial correlation = 0.268

Group breakdowns

Total Top Mid Low TTS

No Answer 0.000 0.000 0.000 0.000 N/A
A 0.804 0.963 0.773 0.712 42.630
B 0.080 0.037 0.101 0.077 38.667
C 0.049 0.000 0.067 0.058 32.727
D 0.067 0.000 0.059 0.154 30.933

Summary

• This item is of lesser difficulty.

• This item has moderate discrimination.
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Item 63

Item 63 - Key = B, Difficulty = 0.622, Discrimination (CPBR) = 0.374

Correlation coefficients

Biserial correlation = 0.529
Point-biserial correlation = 0.413
Corrected biserial correlation = 0.374
Corrected point-biserial correlation = 0.374

Group breakdowns

Total Top Mid Low TTS

No Answer 0.000 0.000 0.000 0.000 N/A
A 0.200 0.093 0.210 0.288 37.000
B 0.622 0.833 0.655 0.327 44.457
C 0.049 0.037 0.025 0.115 35.091
D 0.129 0.037 0.109 0.269 33.138

Summary

• This item is of moderate difficulty.

• This item has high discrimination.
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Item 64

Item 64 - Key = C, Difficulty = 0.493, Discrimination (CPBR) = 0.163

Correlation coefficients

Biserial correlation = 0.268
Point-biserial correlation = 0.209
Corrected biserial correlation = 0.163
Corrected point-biserial correlation = 0.163

Group breakdowns

Total Top Mid Low TTS

No Answer 0.000 0.000 0.000 0.000 N/A
A 0.058 0.019 0.042 0.135 34.154
B 0.080 0.093 0.059 0.115 37.389
C 0.493 0.593 0.504 0.365 43.288
D 0.369 0.296 0.395 0.385 39.928

Summary

• This item is of moderate difficulty.

• This item has low discrimination. Examinees of low ability should have a much lower probability of answering an item
correctly than do examinees of high ability. Low discrimination statistics suggest that this may not be what is occurring.
Consider reviewing and revising the content of this item to see if ambiguity in the item content can be limited. Also,
consider that item difficulty affects item discrimination in that items of high and low difficulty may have lower
discrimination statistics.
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Item 65

Item 65 - Key = D, Difficulty = 0.596, Discrimination (CPBR) = 0.382

Correlation coefficients

Biserial correlation = 0.551
Point-biserial correlation = 0.421
Corrected biserial correlation = 0.382
Corrected point-biserial correlation = 0.382

Group breakdowns

Total Top Mid Low TTS

No Answer 0.000 0.000 0.000 0.000 N/A
A 0.102 0.037 0.143 0.077 39.261
B 0.067 0.019 0.084 0.077 37.333
C 0.236 0.019 0.218 0.500 33.585
D 0.596 0.926 0.555 0.346 44.724

Summary

• This item is of moderate difficulty.

• This item has high discrimination.
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